MBMpl Pty Ltd L7, 68 Pitt Street, Sydney NSW 2000

t 02 9270 1000 f 02 9241 4748

www.mbmpl.com.au

Ref: MBM 0169-0003

19th June 2019

AJ+C 79 Myrtle Street, Chippendale Sydney NSW 2008

Attention: Mark Louw

ABN 74 099 962 231

Dear Mark,

Re: Proposed Masterplan Works - Loreto Normanhurst

Further to the completion of our feasibility cost planning exercise for the above masterplan works, we hereby certify that the estimated Capital Investment Value at the time of preparation is approximately:

One Hundred & Thirty Million One Hundred & Thirty Three Thousand Seven Hundred & Ten Dollars (\$130,133,710) Excluding GST.

This estimate is based on the Concept Design as formulated by the Project Architect; Allen Jack and Cottier and our Concept Design Cost Plan dated January 2018 which is inclusive of:

- **Building and Construction Works**
- FF&E
- Preliminaries & Builder's Overhead & Margin
- Authority Fees
- **Professional Fees**

We have been advised that the works will be staged, and the following breakdown is in accordance with the Concept Proposal as required by the Client.

A: Stage 1B Landscaping	\$ 1,283,058
B: Stage 1C Landscaping	\$ 189,651
1: Stage 1A New Boarding House	\$ 38,636,001
2: Senior School Upgrade Works	\$ 12,875,000
3: Future School Use	\$ 24,600,000
4. Junior School Upgrade Works	\$ 14,000,000
5. Mary Ward Building Upgrade	\$ 7,000,000
6: Gymnasium	\$ 8,750,000
7: Gonzaga Barry Centre Extension	\$ 6,300,000
8: All Weather Playing Field & Basement Carpark	\$ 12,000,000
9: Mount Pleasant Pavilion	\$ 3,000,000
10: Bush Chapel	\$ 300,000
12: Pedestrian Bridge Link	\$ 1,200,000
-	\$130,133,710

All estimates are based on current costs and exclude Goods & Services Tax (GST).

The definition of Capital Investment Value is as per the NSW Environmental Planning and Assessment regulation 2000 and amended by Planning Circular PS10-008 issued 10th May 2010.

Estimate of Job Creation during construction:

MBM estimate 553 jobs will be created by the future development during construction as per the following calculation:

\$1,000,000 x 50% = \$500,000 (labour cost)

500,000/70 per hr = 7,142 hrs

7,142 hours/1,680 hrs (1 person = $40 \text{hrs} \times 42 \text{ weeks}$) = 4.25 jobs per million dollars

4.25 jobs x \$130.1 million = 553 jobs

Should you have any queries or require further information please do not hesitate to contact me.

Yours faithfully, MBMpl Pty Ltd

David Madden

Founding Director



mbm

Loreto Normanhurst

CIV - School Masterplan Proposal r.1

Allen Jack + Cottier

0169-0003



Loreto Normanhurst

Allen Jack + Cottier

School Masterplan Proposal r.1

















Project Number: 0169-0003	Reviewed By: David Madden	Prepared By: Gary Tayfield
Document Title	Issued To:	Issue Date:
Cost Plan 1	Loreto Normanhurst	22nd January 2019
Cost Plan 1 r.1	Loreto Normanhurst	19th June 2019





Client: Allen Jack + Cottier

Project: Loreto Normanhurst

Details:

CIV - School Masterplan Proposal r.1 0169-0003 Date - 19/06/2019

Code	Description	Page	% of Cost	Cost/m2	Total
1	Introduction	4			0
2	A: Stage 1B Landscaping	4	0.99		1,283,058
3	B: Stage 1C Landscaping	5	0.15		189,651
4	1: Stage 1A New Boarding House	5	29.69		38,636,001
5	2: Senior School Upgrade Works	5	9.89		12,875,000
6	3: Future School Use	5	18.90		24,600,000
7	4: Junior School Upgrade Works	5	10.76		14,000,000
8	5: Mary Ward Building Upgrade	5	5.38		7,000,000
9	6: Gymnasium	6	6.72		8,750,000
10	7: Gonzaga Barry Centre Extension	6	4.84		6,300,000
11	8: All Weather Playing Field and Basement Carpark	6	9.22		12,000,000
12	9: Mount Pleasant Pavilion	6	2.31		3,000,000
13	10: Bush Chapel	6	0.23		300,000
14	12: Pedestrian Bridge Link	6	0.92		1,200,000

GFA: 0.00 m2 Cost/m2 (excl GST): N/A/m2 **Project Total (excl GST): 130,133,710**

REPORT DETAILS



Client: Allen Jack + Cottier

Project: Loreto Normanhurst

Details:

CIV - School Masterplan Proposal r.1 0169-0003 Date - 19/06/2019

Code	Description	Quantity	Unit	Rate	Amount
1	Introduction				
1.1	Cost Plan 01 rev.1				
1.2	Project: Loreto Normanhurst - Masterplan Proposal				
1.3	Client: Loreto Normanhurst				
1.4	Prepared By: Gary Tayfield				
1.5					
1.6	Introduction				
1.7	This cost plan has been developed to determine the estimated project cost of the proposed masterplan works for the school		note		
1.8	This cost plan is based on our professional opinion and the source material listed below		note		
1.9	Owing to the conceptual nature of the current proposal we advise that the cost estimates are broad order of cost and should be considered indicative only.		note		
1.10					
1.11	Issue Schedule				
L.12	Cost Plan 01 - 22/01/2019		note		
13	Cost Plan 01 rev. 1 - 19/06/2019				
14					
15	Consultants				
L.16	Architect				
L.17	AJ+C		note		
L.18	<u>Quantity Surveyor</u>				
L.19	MBM		note		
L.20					
21	Information upon which this cost estimate is based				
22	Architectural information received 21/01/19				
23	Schedule of indicative areas (GBA)		note		
L.24	Concept Proposal - Development Envelopes		note		
L.25	Drawing A0004 rev. 3: Indicative extent of future envelopes		note		
L.26					
L.27	Exclusions:				
L.28	Any works outside the extent of works shown on drawings				Ex
L.29	Legal costs, land holding cost, stamp duty etc				Ex
L.30	Finance costs				Exe
1.31	Land				Ex
1.32	Operation & Maintenance Costs				Ex
1.33	GST 10%				Exc
					0.00
2	A: Stage 1B Landscaping				
2.1	Total Trade Cost as per Stage 1 cost plan	1	Item	1,013,385.00	1,013,38

REPORT DETAILS



Client: Allen Jack + Cottier

Project: Loreto Normanhurst

Details:

CIV - School Masterplan Proposal r.1 0169-0003

Date - 19/06/2019

Code	Description	Quantity	Unit	Rate	Amount
2.2	Preliminaries & Margin	1	Item	157,074.68	157,075
2.3	Authority Fees (based on 1.5%)	1	Item	17,556.90	17,557
2.4	Professional Fees (based on 8%)	1	Item	95,041.33	95,041
					1,283,058
3	B: Stage 1C Landscaping				
3.1	Total Trade Cost as per Stage 1 cost plan	1	Item	149,790.00	149,790
3.2	Preliminaries & Margin	1	Item	23,217.45	23,217
3.3	Authority Fees (based on 1.5%)	1	Item	2,595.11	2,595
3.4	Professional Fees (based on 8%)	1	Item	14,048.20	14,048
					189,651
4	1: Stage 1A New Boarding House				
4.1	Total Construction Cost as per Stage 1 cost plan	1	Item	33,694,885.0	33,694,885
4.2	Extra over for disposal of existing fill classified as GSW (non-putrecible)	1,577	t	185.00	291,745
4.3	Authority Fees (based on 1.5%)	1	Item	509,799.45	509,799
4.4	Professional Fees (based on 12%)	1	Item	4,139,571.53	4,139,572
					38,636,001
5	2: Senior School Upgrade Works				
5.1	Provision for all works associated with upgrade works to masterplan building reference 2C	250	m2 GBA	2,500.00	625,000
5.2	Provision for all works associated with upgrade works to masterplan building reference 2D	1,200	m2 GBA	2,500.00	3,000,000
5.3	Provision for all works associated with upgrade works to masterplan building reference 2E	1,400	m2 GBA	2,500.00	3,500,000
5.4	Provision for all works associated with upgrade works to masterplan building reference 2F		m2 GBA	2,500.00	2,000,000
5.5	Provision for all works associated with upgrade works to masterplan building reference 2G	1,500	m2 GBA	2,500.00	3,750,000
					12,875,000
6	3: Future School Use				
6.1	Provision for basement carparking	2,000	m2 GBA	1,800.00	3,600,000
6.2	Provision for all works associated with new future school use building	6,000	m2 GBA	3,500.00	21,000,000
					24,600,000
7	4: Junior School Upgrade Works				
7.1	Provision for all works associated with upgrading existing Junior School	4,000	m2 GBA	3,500.00	14,000,000
					14,000,000
8	5: Mary Ward Building Upgrade				
8.1	Provision for all works associated with upgrading existing Mary Ward Building	2,000	m2 GBA	3,500.00	7,000,000
	, o	,		,,,,,,,	7,000,000

REPORT DETAILS



Client: Allen Jack + Cottier

Project: Loreto Normanhurst

Details:

CIV - School Masterplan Proposal r.1 0169-0003

Date - 19/06/2019

Code	Description	Quantity	Unit	Rate	Amount
9	6: Gymnasium				
9.1	Provision for all works associated with new gymnasium building	2,500	m2 GBA	3,500.00	8,750,000
					8,750,000
10	7: Gonzaga Barry Centre Extension				
10.1	Provision for all works associated with new extension to existing Gonzaga Barry Centre	1,800	m2 GBA	3,500.00	6,300,000
					6,300,000
11	8: All Weather Playing Field and Basement Carpark				
11.1	Provision for all works associated with new basement carpark	6,000	m2 GBA	1,800.00	10,800,000
11.2	Provision for all weather playing field	6,000	m2	200.00	1,200,000
					12,000,000
12	9: Mount Pleasant Pavilion				
12.1	Provision for all works associated with new pavilion	1,000	m2 GBA	3,000.00	3,000,000
					3,000,000
13	10: Bush Chapel				
13.1	Provision for all works associated with new bush chapel	1	Item	300,000.00	300,000
					300,000
14	12: Pedestrian Bridge Link				
14.1	Provision for all works associated with new pedestrian bridge link from LRC to Mary Ward wing	1	Item	1,200,000.00	1,200,000
					1,200,000





Client: Allen Jack + Cottier

Project: Loreto Normanhurst

Details:

CIV - School Masterplan Proposal r.1 0169-0003

Date - 19/06/2019

This report, the documents attached hereto, and any associated communications, are intended only for the Addressee and may contain privileged or confidential information. Any unauthorised disclosure is strictly prohibited. If you have received this report in error, please notify MBMpl Pty Ltd (MBM) immediately so that we may correct our internal records.

This report is qualified in its entirety by and should be considered in the light of the agreed terms of engagement and the following:

This report has been prepared for the exclusive use of the Addressee and shall not be relied upon by any other third party for any other purposes unless expressly permitted or required by law and then only in connection with the purpose in respect of which this report is provided.

In no event, regardless of whether MBM's consent has been provided, shall MBM assume any liability or responsibility to any third party to whom this report is disclosed or otherwise made available.

Without the prior written consent of MBM, this report is not to be used in conjunction with any public or private offering of securities or other similar purpose where it might be relied upon to any degree by any person other than the Addressee.

MBM has used its reasonable endeavour so that the data contained in this report reflects the most accurate and timely information available and is based on information that was current as of the date of this report.

The preparation of this report has relied on information provided by the Addressee and by third parties. MBM has not verified this information and we assume no responsibility and make no representations with respect to adequacy, accuracy or completeness of such information.

This report is based on estimates, assumptions and other information developed by MBM from our independent research, intelligence, general knowledge of the industry and consultations with the addressee, addressee employee and representatives.

No guarantee or warranty is made by MBM in relation to the projected values or findings contained in this report. In addition, this report is based upon information that was obtained on or before the date in which this report was prepared. Circumstances and events may occur following the date on which such information was obtained that are beyond our control and which may impact on the findings and projections contained in this report. MBM specifically disclaims any responsibility where such circumstances or events do occur and impact the findings of this report.

The findings in this report must be viewed in the context of the entire report including, without limitation, any assumptions made and disclaimers provided. Under no circumstances shall the findings in this report be excised from the body of this report.

All intellectual property rights (including, but not limited to copyright, database rights and trade marks rights) in this report including any forecasts, spreadsheets or other materials provided are the property of MBM. The addressee may use and copy such materials for internal use.

7 of 8 MBM0169-0003

OUR LOCATIONS

MBM has offices in Sydney, Melbourne, Brisbane, Perth, Canberra, Adelaide and the Gold Coast.

We operate as a single entity and are able to utilise specialised skills from any office to deliver a successful outcome for your project or development.

Sydney

Level 7 68 Pitt Street Sydney NSW 2000 02 9270 1000 nsw@mbmpl.com.au

Brisbane

Level 22 215 Adelaide Street Brisbane QLD 4000 07 3234 4000 qld@mbmpl.com.au

Canberra

Level 2, Suite B Ethos House 28-36 Ainslie Place Canberra ACT 2601 02 6152 0996 act@mbmpl.com.au

Gold Coast

Suite 1802, Level 8 Southport Central Tower 1 56 Scarborough Street Southport QLD 4215 07 5591 6732 gc@mbmpl.com.au

Melbourne

Level 7 500 Collins Street Melbourne VIC 3000 03 9603 5200 vic@mbmpl.com.au

Parramatta

Suite 1, Ground Floor 111 Phillip Street, Parramatta, NSW 2150 02 9270 1000 nsw@mbmpl.com.au

Perth

Level 29 221 St Georges Terrace Perth WA 6000 08 9288 0616 wa@mbmpl.com.au

Adelaide

Balcony Level 109 Gays Arcade Adelaide 5000 08 8423 4540 sa@mbmpl.com.au



05 CONCEPT PROPOSAL

DEVELOPMENT ENVELOPES

Refer architectural drawing set of Concept Proposal for full drawing set including elevations and plans and details of envelopes.



